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IT'S CARNIVAL TIME!
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o”e Read and answer. Use the names of these masks:
Y74

| princess - clown - witch - harlequin - odalisque - pirate

Why is he wearing a mask?
Because he's a

Why is she wearing a hat?
Because she's a

Why is she wearing a veil?
Because she's an

Why is she wearing a crown?
Because she's a

Why is he wearing an eye patch?
Because he's a

Why is he wearing a red nose?
Because he's a
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0@@%;9 Why are they wearing fancy dresses? ° %Q%O
°90 o Because it's Carnival Time! o 080
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Read and number.

1. wizard (F)

2. pirate (D)

3. devil (J)

4. cowboy (E)

5. harlequin (I)

6. dame (A)

7. clown (G)

8. princess (H)

9. odalisque (C)

10. witch (A)

Read and answer

Why is he wearing a mask? Why is she wearing a crown?
Because he's a harlequin.

""Why Is she wearing a hat?

Because she's a witch

Why is she wearing a veil?
Because she's an odalisque Because he's a clown

Because she's a princess

Why is he wearing an eye patch?
Because he's a pirate

Why is he wearing a red nose?
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